

CENTRAL RAILWAY SEC. SCHOOL & JR. COLLEGE, KALYAN APPLICATION FOR ADMISSION SESSION 201

-201

		Name)	is sought :	name/Middle Nar	(Std 1 - 10)		a pass	Affix recent sport Size photo
	XI/XII (Commerce/Science).							
04.		e Parent/Guar	dian : one <u>P</u>	hwini lot, Street No. 5 Ilkajgiri, Secundo	, Vishnu Puri Ex	xtn, Sri Ran	 na Nagar	_
07.	Religion/Ca	of Parent/Gua este/Sub caste C/ST/NT/OBC	ardian : :	ne : 834153160			_	
09.	. Sex : Male/Female							
	Date of Bir			16/01/2016				
	. Place of Birth :							
	Name of the School last attended :							
			•					
			-	abled/Allergic to				
15.	Details of F	Examination Pa	:	Aadhaar N	NO			
10.	Exam Passed	Month & Year	Seat No.	Board	Subjects	Marks/ Grade secured	Max. Marks	% of mark/ Grade (Total)

- 17. List of Documents attached by Applicant:
 - a. Attested Copy of Report Card b. Original Leaving Certificate
 - b. Birth Certificate (in case of Std-1) d. Std 10th Mark Sheet (in case of admission to XIth) e. Aadhaar Card

IMPORTANT NOTE: USE OF MOBILE PHONES IN CAMPUS & BULLYING IS STRICTLY PROHIBITED IN SCHOOL CAMPUS.

I here by certify that the above particulars are true & correct and I agree to abide by the Rules and Orders of the Institution and the department as laid down in the CBSE Education Code.

Date:		
Place:	(Signature of the Student)	(Signature of Parent/Guardian)
		Contdpage 2

(Information about the Parent/Guardian- for Railway Employees only)

Designation :	:	Office/Department:			
Station :					
Date :					
OFFICE SEAL	(Signatur	e of the Controlling Officer)			
<u> </u>	FOR OFFICE USE ONLY				
Please admit Master/Mis	SS				
in class Fee Receipt No	Section Adn	nission No			
Date:					
Class Teacher	Chief O.S.	Principal			

FEE STRUCTURE FOR JUNIOR COLLEGE FOR ACADE FEE STRUCTURE FOR JUNIOR COLLEGE FOR ACADEMIC YEAR

DESCRIPTION	XI COMM	XI SCIENCE	XII COMM	XII SCIENCE
ADMISSION FEES	50	50	-	-
VIDYALAYA VIKAS NIDHI	400 x 12 = 4800			
COMPUTER FEES	125 x 12 = 1500			
TUITION FEES	300 x 12 = 3600	400 x 12 = 4800	300 x 12 = 3600	400 x 12 = 4800
LAB FEES	-	150 x 12 = 1800	-	150 x 12 = 1800
SECURITY FEES	480	480	480	480
MAGAZINE / ID/ CALENDAR	320	320	320	320
CAUTION MONEY (REFUNDABLE)	1000	1000	-	-
TOTAL FOR BOYS	11750	14750	10700	13700
TOTAL FOR GIRLS	11750	14750	10700	13700

Note: Rs. 150 per month will be charged for the students who opt Informatics Practices as optional subject. 150 x 12 = 1800. Caution money will be refunded at the time of issue of Leaving Certificate as per condition (Refer point no.6 in Instruction).

FEE STRUCTURE FOR PRIMARY AND SECONDARY SECTIONS FOR ACADEMIC YEAR 2018-19

OCTURE FOR FRIMART AND SECONDART SECTIONS FOR ACADEMIC TEAR 2010-19					
DESCRIPTION	STD-I	STD - II TO VIII	STD - IX TO X		
ADMISSION FEES	50	-	-		
VIDYALAYA VIKAS NIDHI	400 x 12=4800	400 x 12=4800	400 x 12=4800		
COMPUTER FEES	125 x 12 = 1500	125 x 12 = 1500	125 x 12 = 1500		
TUITION FEES (ONLY BOYS)	-	-	200 x 12 = 2400		
SECURITY FEES	480	480	480		
MAGAZINE / ID/ CALENDAR	320	320	320		
TOTAL FOR BOYS	7150	7100	9500		
TOTAL FOR GIRLS	7150	7100	7100		

Note: Rs. 50 will be charged for new admissions only.

Note: Registration and Examination fee will be collected as per CBSE for IX to XII

GENERAL INSTRUCTIONS

Application forms duly filled up should be submitted in the office on or before the last date of receiving application along with the following documents.

- 1. Birth Certificate original (In case of STD-1)
- 2. Xerox copy of School Leaving Certificate (Original to be given on admission- Except Central Railway School Students)
- 3. Xerox copy of Mark Sheet of 10th Standard. (Original to be submitted at the time of admission).
- 4. Two recent Passport size photographs.
- 5. Forms to be signed and stamped by the Controlling Officer in case parent of the

Candidate is a Railway Employee.

6. Cost of Application/Prospectus Rupees 150, has to be paid at the time of submitting

the Application Form if downloaded from School Website.

7. Caution money is refundable at the time of issue of Leaving Certificate subject to NOC clearance from Class Teacher & Librarian.

Subjects offered in Standard XI:

Compulsory Subjects: English & Fundamental I.T (for Commerce & Science).

Subjects for Commerce:

1. Accountancy 2. Business Studies

3. Economics 4. Hindi/Informatics Practices/Mathematics

Subjects for Science:

1. Physics 2. Chemistry

3. Mathematics/Biology 4. Hindi/Informatics Practices/Economics

Important:

- Fees once deposited on confirmed admissions will not be refunded.
- Stream/Subjects offered in XI cannot be changed in XII.
- Use of cell phone is strictly prohibited in school campus.
- Fees are subject to be revised.

CENTRAL RAILWAY SCHOOL & JR. COLLEGE, KALYAN

Central Railway School Kalyan was established as a primary school in the year 1918 by the G.I.P. Railways is now on the threshold of its Centenary celebrations. The School has been upgraded in a phased manner and the first batch of students went to S.S.C. Board of Maharashtra State in 1975. The first batch of H.S.C. Board appeared in 1985 with Commerce Stream. The Arts Faculty was added in 1997 and Science Stream in year 2005.

This Senior Secondary School caters to the educational needs of wards of railway men from K- 12 has strength of 1600 students and is affiliated to CBSE New Delhi. The school has a proven track record of excellence in curricular and co-curricular achievements.

A pioneer in Computer Education the school has reached the zenith of glory in year 2005 when it bagged both State and National First Prizes for excellence in Computer Literacy from honourable President of India with medals and cash award of Nine Lakh Rupees. This trailblazing achievement is a role model for all schools in Indian Railways since this is recommended by Railway Board for implementation in other schools of Indian Railways.

The School has been the Best School in Central Railway, many students and teachers of this school have been awarded Best Student and Best Teachers in Indian Railways in the past for their achievements in the field of education. Declared as the Best School in Central Railway for year 2010 & 2015 with Best Student, Best Teacher and Best Principal for the previous academic year.

School's Swachh Vidyalaya campaign has bagged a grade of BLUE from CBSE New Delhi with cash prize of Rs. 75000/- and culminated in making the school a better place to learn with a clean and green environment. The School's Bio-Diversity is published by UNEP in their Bio-diversity Convention 2018. School is also granted Excellent & Five Star Grade in Hygiene & Sanitation by Ministry of HRD, Govt. of India in 2018.

The School has a good literary forum to promote creative writing skills of children with a consistent publishing record of 15 years of the school magazine titled "PRATIBHA"

School uses I.C.T. tools and has the best of facilities that are better than private schools. The full fledged Science Labs and Math Lab of this school is also an attraction in the field of education. The school has produced a huge number of President Scouts in the past and all the students are enrolled in scout & guide activities. The School has its own web site through which students can be in touch with the school even when they are away from campus. It also has its Alumni Association and Parent Teachers Association.

Maharashtra- 421301. Website: www.crskyn.org, Phone: 2327347, 2212888 (BSNL) 63230, 63231(Rly) Email: crskyn1918@gmail.com, principal@crskyn.org